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# B B =E 71 5 76 ( 39 37 ) 365 B B IEEE 69 18 87 (45 42 ) 360
20 EE R 12 -1 71 ( 3 36 ) 355 2 =M E— 71 11 82 (41 41 ) 355
3hr  EN & 12 14 86 (47 39 ) 400 3R Epk BAGA 73 14 87 (43 44 ) 360
AR £ HE 73 19 92 (45 47 ) 355 A HAR ER 73 16 89 (44 45 ) 360
567 FiH 5AZ /4 13 87 (44 43 ) 375 bRI  #1E #3hA 73 14 87 (44 43 ) 370
6 RF B 75 20 95 (47 48 ) 370 6T HE AT 74 5 79 ( 38 41 ) 355
76 FE KB 75 12 87 (43 44 ) 370 760 BB EA 74 24 98 (52 46 ) 400
8hr  HF EH 76 8 84 (43 41 ) 390 8hi FEH = 75 14 89 (42 47 ) 350
Ohr  #HfE B— 76 14 90 (48 42 ) 410 9 HE = 75 7 82 (40 42 ) 365
1060 K& M 76 13 89 (49 40 ) 425 106 BEE #BA 75 16 91 (46 45 ) 380
TR FI B 77 21 98 (53 45 ) 425 M =M@= 76 14 90 (42 48 ) 350
1262 2 B 17 9 86 (47 39 ) 425 1260 /NFK %5 ER 76 8 84 (41 43 ) 370
1360 bl E— 78 16 94 (50 44 ) 420 1360 HFE 34 76 28 104 ( 52 52 ) 380
1467 It BA%E 78 13 91 (52 39 ) 455 1460 3E2 F3A 76 19 95 (50 45 ) 405
1560 fnits HEER 79 22 101 (49 52 ) 380 1567 EH S£H 76 7 83 ( 45 38 ) 415
2061 SH 79 28 107 ( 57 50 ) 430 2067 WAK B 78 10 88 (42 46 ) 370
301 HII MBE 82 18 100 (51 49 ) 420 30 WL B 79 13 92 (45 47 ) 385
40k KRB iEX 85 26 111 ( 53 58 ) 400 406 Mk BE 80 13 93 (48 45 ) 415
500y =45 =M 89 16 106 (58 47 ) 500 500 = {598 82 9 91 (46 45 ) 415
60z #%&MA = 85 23 108 ( 50 58 ) 385
7001 Il & 87 13 100 (51 49 ) 445
801 KiIR #E 91 16 107 (56 51 ) 480
BBE R &kib 95 18 113 (58 55 ) 490 BBE Ek & 93 25 118 (58 60 ) 455
BGE M ET 71 ( 3 36 ) Par 72 a—ZL—k  RO—FL—k

B (F) 6,606 yard 713 128

BEitE(H) 6,237  vyard 69.5 123

BEiE(4£) 5892  yard 68.1 119

BEiE(%) 5281  yard 64.9 114

(%) 5281  yard 70.1 123

ZE(FR) 4,878  vyard 67.8 119




